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1) (a) Use information in the diagram below to find the value of x.

X

Give a reason for your answer.

140°

(2)
(b) Determine the value of y. State any angle facts used.
3
(5 marks)
2) Angle b is three times the size of angle a.
a
) b
80
Work out the size of angle a and angle b.
a = .
b= __
(3 marks)
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3) Angle f'is one quarter of the size of angle g.
I At
& Y
139°

Bob thinks angle f'is 28° . Is Bob correct? Explain why.

(5 marks)
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Question Answer Marks
1) (a) | Use information in the diagram below to find | (a) x=150° (€))
the value of x. Vertically opposite angles are equal. 1)
Give a reason for your answer.
a
140°
M 30°
(b) | Determine the value of y. State any angle (b) 360 - 140 - 30 - 150 (€))
facts used. 40° 1)
Angles in a quadrilateral add to 360° 1)
2) Angle b is three times the size of angle a. 4a =80 a1
a=20° 1)
b=20x3=060° 1)
a
b Alternative Method
80°
80 + (1 + 3) 1)
a=20° 1)
b=20x3=60° 1)
Work out the size of angle a and angle b.
3) Angle fis one quarter of the size of angle g. g=28%x4=112 1
f+g=28+112=140 (1)
Bob thinks angle f'is 28°. However f+ g =139° 1)
Vertically opposite angles are equal )
No, Bob is not correct 1)
I At
- y Alternative Method
139° Af=g)+f=5f 1)
5f=139 1)
Is Bob correct? Vertically opposite angles are equal 1)
f=27.8° @
Give reasons. No, Bob is not correct )
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